750 —hw T FHIEMI 2024/10/15 (X) 16:57
2024 &£ 10 A 15 B (W)

A E BN T (9%-)) = LA-: x * % ”
FTEUEIRR . PAR X 2 7Yk DRQRIDBEHB®D®O®
HDCPERR: (58) 30.0 (%) 36.0 * * % x %
A2 0 @ @ ® @ {® ® @ @

B L BEESA ouT IN GROSS HDCP  NET IBE BREA ouT IN GROSS HDCP  NET
1% XA =F7]u¥ 41 45 20.8 65.2 616 B8 BT 45 54 22.4 16.6

ML mE =8 39 36 75 9.6 654 626 Bl —=% 48 48 96 19.2 76.8
IV 38 42 80 11.2 68.8 636 BF ZEmfc 52 52 104 27.2 76.8
ML IR BE 39 51 90 20.8 69.2 645 NE 15— 44 41 85 8.0 71.0
5 tRe A3 72 42 94 144 69.6 65060 T mE 44 51 95 1.6 71.4
66 A Ath 37 36 713 3.2 69.8 660 B2 Tmx 50 50 100 22.4 77.6
76 shin B 38 43 81 11.2 69.8 67/6c Al E= 48 49 97 19.2 71.8
8L mlm  —RK 52 45 97 27.2 69.8 636 28 T 48 54 102 24.0 78.0
9 Fm —1=. . %6 48 94 240 70.0 605 #ixE BF. 43 50 93 14.4 78.6
106 L Rk 38 40 78 8.0 70.0 706 PR H=F. . 52 54 106 27.2 78.8
116 F1:a  #0E 44 47 91 20.8 70.2 T ZE)Il FNE. 51 55 106 27.2 78.8
1261 mhe  iF& 38 4] 85 14.4 70.6 26 PH R 50 59 109 30.0 79.0
T3 A Tk, 20 45 85 14.4 70.6 136 e e, 47 53 100 20.8 79.2
T4f I3k #0F. 43 39 82 11.2 70.8 i £F #k 47 50 97 17.6 19.4
5 £5% =M+ 54 52 106 35.2 70.8 750 2% Bua 51 53 104 24.0 80.0
ol Bl & 4T 46 87 16.0 71.0 760 e ==05 51 53 104 24.0 80.0
REES %5 2 42 84 12.8 71.2 T A RF 60 56 116 36.0 80.0
186 =B &Ir 51 49 100 28.8 71.2 T80 il B 53 58 111 30.0 81.0
19f MH Ein 20 44 84 12.8 1.2 106 BE =X 48 46 94 12.8 81.2
206 /B EX 39 42 81 9.6 71.4 80%L #3JI iF. 53 51 104 22.4 81.6
216 BS Ear. 49 48 97 25.6 1.4 381G R WAy 50 50 118 36.0 82.0
2200 %z FIA0 37 38 75 3.2 171.8 820 = Tir 62 57/ 119 36.0 83.0
2306 MR = TIE. 45 46 91 19.2 71.8 83GL mlh PE— 53 60 113 30.0 83.0
24 B IEIL 40 43 83 11.2 71.8 84 EEmk BT 57 63 120 36.0 84.0
250 AP F= 39 41 80 8.0 72.0 850 ZE)I| =& 57 61 118 33.6 844
26fL A I 20 40 80 8.0 72.0 860 2B == 61 56 117 28.8 88.2
2762 Fi0 D 41 44 85 12.8 7122 87 HJI FHF 61 63 124 33.6 90.4
28TL oA Ekk, 4 43 85 12.8 12.2 88fL /A &LLF 64 64 128 36.0 92.0
206 &k n= 45 45 90 17.6 7124 B.B @il S= 71 60 131 36.0 950
30 tRiE @B 40 47 8] 144 12.6 90fL TkiE M 68 65 133 36.0 97.0
L = E— 44 53 97 240 73.0
N T W 44 45 89 16.0 73.0
336 AJI 15 20 51 91 17.6 73.4
3 K1Z =ik 38 4, 83 9.6 73.4
B BE B %6 4/ 93 190.2 73.8
36 ")l =E 45 45 90 16.0 74.0
3L MF BB 49 41 90 16.0 74.0
B AF BE 51 4] 98 24.0 74.0
30 M i 48 4] 95 20.8 742
0 2R B—. 37 50 87 12.8 74.2
AL BlE B 43 44 8] 12.8 7142
DR KR W+, 44 51 95 20.8 74.2
B 28 FE 49 48 97 22.4 4.6
GAGL IR BRAER. 20 49 89 14.4 74.6
451 ZhE W 45 44 89 14.4 746
466 A AZETR 50 55 105 30.4 74.6
i NE mF 50 55 105 30.4 74.6
A8RL RER —k 43 43 86 11.2 714.8
Af. FFHE = 47 4] 94 19.2 74.8
506 =01 IEfE 48 46 94 19.2 74.8
516 RIR_=#0 43 43 86 11.2 74.8
520L T4 BAER 50 49 99 24.0 750
536 B B 52 53 105 30.0 750
SARL IER  JobT. 47 46 93 17.6 75 4
5ol A B 48 39 8/ 11.2 758
560L Ml Sm 44 40 84 8.0 760
57 fH = 50 47 97 20.8 76.2
58 RiR E= 48 49 97 20.8 76.2
50T fBA  Jih. %6 51 97 20.8 762
60fL /NE BT 48 49 97 20.8 76.2

P-1 BEIILTIIST



